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This question paper contains 3 printed pages]

LR—40—2024

FACULTY OF HUMANITIES

M.A. (First Year) (External Education) EXAMINATION

APRIL/MAY, 2024

ECONOMICS

(Growth, Development and Environmental Economics)

(Friday, 10-5-2024) Time : 10.00 a.m. to 1.00 p.m.

Time—Three Hours Maximum Marks—100

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(i)

(ii)

1. Explain the concept of developing economy and state the characteristics of

developing economy. 20

Or

Explain the economic and non-economic factors affecting to economic growth

and development.
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2. Critically examine Lewi’s theory of unlimited supply of labour. 20

Or

Explain with the help of a diagram how the agricultural sector develops with

the help of the theories of Phai-Raineys.

3. Explain the internal and external sources of capital formation. 20

Or

Explain the meaning of capital formation and state the reasons why rate of

capital formation is low in an under developed country.

4. Explain the human development index in detail. 20

Or

Explain the meaning of pollution. Explain different types of pollution.
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5. Write short notes on any two of the following : 20

(i) Greenhouse effect

(ii) Vicious circle of poverty

(iii) Age of high mass consumption

(iv) Difference between economic growth and economic development.

(i)

(ii)

(iii)

(iv)

LR—40—2024 3
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